

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 16, 2023

Progress Estima	ate Number	Contract ID Prime Contractor	221216-D01 Gene Haile Excavating, Inc.			Original Contract Amou Net Change Order Amou Current Contract Amou	unt \$0.00			
Approval Date										
August 16, 2023		Generated and Approved (and should be considered Draft) at the Project Office Level by								
August 16, 2023	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by									

August 17, 2023	August 17, 2023 Reviewed and Approved at the Central Office Controllers Office Level by										
Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amou	nt Complete							
December 1, 2023	December 1, 2023		99.35%								

	Milestones		
Date Description	No Milestones Exist for Contract		
Acceptance Date			
Awarded Date	January 4, 2023	January 4, 2023	
Letting Date	December 16, 2022	December 16, 2022	
Notice to Proceed Date	February 6, 2023	February 6, 2023	
Open to Traffic Date			
Work Began Date	April 24, 2023	April 24, 2023	

Contract Total Pay For Estimate No. 8											
		This Estimate	Previous	To Date							
221216-D01											
	Total Posted Items Pay	\$75,414.50	\$599,259.98	\$674,674.48							
	Gross Item Adjustments	(\$3,841.50)	(\$8,763.98)	(\$12,605.48)							
	Incentive	\$0.00	\$0.00	\$0.00							
	Disincentive	\$0.00	\$0.00	\$0.00							
	Liquidated Damage	\$0.00	\$0.00	\$0.00							
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00							
	•		\$590,496.00	\$662,069.00							
Contract Total Pa	ayable This Estimate:	\$71.573.00									

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount			
J5S3440	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,453	\$2,453.00					
	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$1.500	2,453	\$3,679.50			
	0250	8059901	MISC.MULCHING	LS	\$2,215.000	1	\$2,215.00			
	0260	8059901	MISC.SEEDING - COOL SEASON MIXTURE	LS	\$4,375.000	1	\$4,375.00			
	0320	8061050	TYPE C BERM	LF	\$20.000	71	\$1,420.00			
	0330	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	LF	\$32.000	888	\$28,416.00			
	0340	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,996.000	4	\$15,984.00			
	0350	6061080	MGS END ANCHOR	EA	\$1,296.000	2	\$2,592.00			
	0360	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,570.000	4	\$14,280.00			
Project J5S3440 - Total										
Overall - Total										

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

140 0011616	iot / tajac	ATTIONIO EXIOLOTI CONTIGOL						
Line Item	Adjust	ments This Estimate						
Project Number		Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3440	0020	EMBANKMENT IN PLACE	Material			-567	\$25.00	(\$14,175.00)
	0020	EMBANKMENT IN PLACE	Material		This adjustment offsets the original system-	567	\$25.00	\$14,175.00

Revision 3/23/2023 Page 1 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 16, 2023

Progress Estimate Number
8

Contract ID 221216-D01 Pay Period Start August 2, 2023 Original Contract Amount \$679,061.56\$
Pay Period End August 15, 2023 Original Contract Amount \$0.00\$
Current Contract Amount \$679,061.56\$

ject nber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
3440				7.	generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.			
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material			-213	\$11.00	(\$2,343.00
	0060	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user beckc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.	213	\$11.00	\$2,343.00
	0190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-2,453	\$1.00	(\$2,453.00
	0190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user beckc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.	2,453	\$1.00	\$2,453.00
	0190	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	Other	This is a 20% payment withholding and will be due in full pending retroflectivity results as specified in Sec 620			(\$490.60
	0200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material			-2,453	\$1.50	(\$3,679.50
	0200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user beckc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.	2,453	\$1.50	\$3,679.50
	0200	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	Other	This is a 20% payment withholding and will be due in full pending retroflectivity results as specified in Sec 620			(\$735.90
	0230	PERMANENT EROSION CONTROL GEOTEXTILE	Material			-580	\$3.00	(\$1,740.00
	0250	MISC.	Material			-1	\$2,215.00	(\$2,215.00
	0250	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user beckc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.	1	\$2,215.00	\$2,215.00
	0260	MISC.	Other Item Adjustment	Other	This is a 20% Payment Withholding for the seeding performed on J5S3440. Once adequate seed growth is achieved and accepted by MoDOT, and silt fence is removed, full payment will be made.			(\$875.00
	0320	TYPE C BERM	Material			-71	\$20.00	(\$1,420.00
	0320	TYPE C BERM	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user beckc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.	71	\$20.00	\$1,420.00
	0390	SLAB ON STEEL	Material			-724	\$385.00	(\$278,740.00
	0390	SLAB ON STEEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0008) due to user beckc2	724	\$385.00	\$278,740.00

Revision 3/23/2023 Page 2 of 13

(\$3,841.50)



Total

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: August 16, 2023

Progre	ess Est	imate Number 8	Contract ID Prime Contr	22121 ractor Gene		ing, Inc. Pay Period End August 15, 2023 No	riginal Contra et Change Or urrent Contra	\$679,061.56 \$0.00 \$679,061.56	
Project Number	Line No.	Item Desc	cription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J5S3440						overridding Payment Estimate Exception 8 on the current Payment Estimate.			
	0400	TYPE	D BARRIER	Material			-455	\$70.00	(\$31,850.00
	0400	TYPE	D BARRIER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user beckc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.	455	\$70.00	\$31,850.00

Revision 3/23/2023 Page 3 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

Contract Project Information												
Project Number Proj. Number Proj. Number Project Description Number Proj. Number Pr												
J5S3440 FAS- S402(071) Bridge deck replacement DD MORGAN 1.9 miles west of Route 135 over Haw Creek, near Florence												
Totals by .	Job Number	's										
J5S3440		l Item Pay Item Adjustme		Item Pay	This Estimate \$75,414.50 (\$3,841.50) \$71,573.00	Previous \$599,259.98 (\$8,763.98) \$590,496.00	To Date \$674,674.48 (\$12,605.48) \$662,069.00					
					\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00					

Revision 3/23/2023 Page 4 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions (Discrepancies) This Estimate Feriod			
Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 2035500, Project Item Line Number 0020, Material Set 203550096, Material 0200XXCS - Compacted Soil for Subgrade or Embankment, Acceptance Action Generic 0200XXCS is insufficient.	QC is working on entering testing into system	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 3040143, Project Item Line Number 0060, Material Set 304014396, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	QC is entering results into system	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 6206000C, Project Item Line Number 0190, Material Set 6206000C96, Material 1048PMTRWBWH - Marking Paint Acrylic Waterborne White, Acceptance Action Generic 1048PMTRWBWH is insufficient.	Waiting 14 days for Stripe Pavement Performance test	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 6206000C, Project Item Line Number 0190, Material Set 6206000C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Contractor is submitting certs for paint and beads	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 6206001C, Project Item Line Number 0200, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting 14 days for Stripe Pavement Performance test	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 6206001C, Project Item Line Number 0200, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Contractor is submitting certs for paint and beads	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 6240103A, Project Item Line Number 0230, Material Set 6240103A96, Material 1011GXT3 - Geotextile Fabric for ErosionControl(T3), Acceptance Action Generic 1011GXT3 is insufficient.	Contractor has not sent certifications in for review. Contractor has been notified 4 times about this issue.	beckc2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 7034212, Project Item Line Number 0390, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Awaiting QC tests to be entered	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 7034212, Project Item Line Number 0390, Material Set 703421296, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Awaiting QC tests to be entered	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 7034212, Project Item Line Number 0390, Material Set 703421296, Material 1036RSDFEC42M22 - Rein Steel EC No. 7/M22 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Awaiting QC tests to be entered	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 7034212, Project Item Line Number 0390, Material Set 703421296, Material 1036RSDFEC42M25 - Rein Steel EC No. 8/M25 Gr 60/M420 @, Acceptance Action Generic ReSteelBars is insufficient.	Contractor is working on resolving PAL issue with silicane sealer	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 7034219A, Project Item Line Number 0400, Material Set 7034219A96, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	Concrete Sealer is lacking a PAL number associated to it.	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 8059901, Project Item Line Number 0250, Material Set 805990196, Material 0802MLST - Mulch Straw (Vegetative Mulch), Acceptance Action Generic 0802MLST is insufficient.	Waiting for Certification for straw used to seed project	beckc2	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3440, Item 8061050, Project Item Line Number 0320, Material Set 806105096, Material 0806TEC - Temporary Erosion Control, Acceptance Action Generic 0806TEC is insufficient.	Visual Inspection is needed	beckc2	Overridden
Estimate Exception Type: Item Overrun: Contract 221216-D01, Contract Project J5S3440, Project Item Line Number 0230, Contract Line Item Number 0230, Item 6240103A, Minor Item.	Waiting on Change Order 1	beckc2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 221216-D01, Contract Project J5S3440, Project Item Line Number 0080, Contract Line Item Number 0080, Item 4011231, Minor Item.	Waiting on Change Order 1	beckc2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 221216-D01, Contract Project J5S3440, Project Item Line Number 0110, Contract Line Item Number 0110, Item 6113020, Minor Item.	Waiting on Change Order 1	beckc2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 221216-D01, Contract Project J5S3440, Project Item Line Number 0120, Contract Line Item Number 0120, Item 6113040, Minor Item.	Waiting on Change Order 1	beckc2	Acknowledged

Revision 3/23/2023 Page 5 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

lote. Fosted Q	uanuues	and valu	es are r	pased on R	eport Generated date and can differ from the posted am	ount at th	e time th	e Estimate v	vas Gen	ierated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221216-D01	J5S3440	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$8,250.00	\$8,250.00
		0001	0020	2035500	EMBANKMENT IN PLACE	567.00	0.00	567.00	CUYD	567.00	\$25.00	\$14,175.00
		0001	0030	2101006A	SUBGRADE COMPACTION (6-INCH DEPTH)	1.00	0.00	1.00	100F	1.00	\$2,000.00	\$2,000.00
		0001	0040	2142000	FURNISHING ROCK FILL	399.00	0.00	399.00	CUYD	331.00	\$25.00	\$8,275.00
		0001	0050	2143000	PLACING ROCK FILL	399.00	0.00	399.00	CUYD	331.00	\$8.00	\$2,648.00
		0001	0060	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	213.00	0.00	213.00	SQYD	213.00	\$11.00	\$2,343.00
		0001	0070	3105002	GRAVEL (A) OR CRUSHED STONE (B)	5.00	0.00	5.00	TONS	5.00	\$25.00	\$125.00
		0001	0080	4011231	BITUMINOUS PAVEMENT MIXTURE PG58-28H, (BP-1)	47.60	0.00	47.60	TONS	57.30	\$372.60	\$21,349.98
		0001	0090	4019905	MISC.OPTIONAL PAVEMENT	213.40	0.00	213.40	SQYD	213.40	\$140.00	\$29,876.00
		0001	0100	4071005	TACK COAT	49.00	0.00	49.00	GAL	49.00	\$7.00	\$343.00
		0001	0110	6113020	FURNISHING TYPE 2 ROCK BLANKET	284.00	0.00	284.00	CUYD	387.00	\$26.00	\$10,062.00
		0001	0120	6113040	PLACING TYPE 2 ROCK BLANKET	284.00	0.00	284.00	CUYD	387.00	\$15.00	\$5,805.00
		0001	0130	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	EA	0.00	\$2,500.00	\$0.00
		0001	0140	6161005	CONSTRUCTION SIGNS	109.00	0.00	109.00	SQFT	109.00	\$7.00	\$763.00
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$71.00	\$142.00
		0001	0160	6161030	TYPE III MOVEABLE BARRICADE	10.00	0.00	10.00	EA	10.00	\$205.00	\$2,050.00
		0001	0170	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,125.00	\$8,250.00
		0001	0180	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$65,100.00	\$65,100.00
		0001	0190	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,453.00	0.00	2,453.00	LF	2,453.00	\$1.00	\$2,453.00
		0001	0200	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	2,453.00	0.00	2,453.00	LF	2,453.00	\$1.50	\$3,679.5
		0001	0210	6214600A	FLOWABLE BACKFILL	4.00	0.00	4.00	CUYD	4.00	\$700.00	\$2,800.00
		0001	0220	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	489.00	0.00	489.00	SQYD	489.00	\$24.00	\$11,736.0
		0001	0230	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	427.00	0.00	427.00	SQYD	580.00	\$3.00	\$1,740.0
		0001	0240	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$4,000.00	\$4,000.0
		0001	0250	8059901	MISC.MULCHING	1.00	0.00	1.00	LS	1.00	\$2,215.00	\$2,215.0
		0001	0260	8059901	MISC.SEEDING - COOL SEASON MIXTURE	1.00	0.00	1.00	LS	1.00	\$4,375.00	\$4,375.0
		0001	0270	8061004	SEDIMENT TRAP ROCK	7.10	0.00	7.10	CUYD	0.00	\$93.00	\$0.0
		0001	0280	8061005	ROCK DITCH CHECK	40.00	0.00	40.00	LF	0.00	\$25.00	\$0.0
		0001	0290	8061016	SEDIMENT REMOVAL	42.00	0.00	42.00	CUYD	0.00	\$10.00	\$0.0
		0001	0300	8061017	TEMPORARY SEEDING	0.10	0.00	0.10	ACRE	0.00	\$40,000.00	\$0.0
		0001	0310	8061019	SILT FENCE	1,432.00	0.00	1,432.00	LF	1,359.00	\$3.00	\$4,077.0
		0001	0320	8061050	TYPE C BERM	153.00	0.00	153.00	LF	71.00	\$20.00	\$1,420.0
		0010	0330	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	888.00	0.00	888.00	LF	888.00	\$32.00	\$28,416.0
		0010	0340	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,996.00	\$15,984.0
		0010	0350	6061080	MGS END ANCHOR	2.00	0.00	2.00	EA	2.00	\$1,296.00	\$2,592.0
		0010	0360	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,570.00	\$14,280.0
		0070	0370	2024043	REMOVAL OF MISCELLANEOUS ACM (NON-FRIABLE)	20.00	0.00	20.00	SQFT	20.00	\$210.00	\$4,200.0
		0070	0380	2162500	REMOVAL OF EXISTING BRIDGE DECK	6,478.00	0.00	6,478.00	SQFT	6,478.00	\$10.00	\$64,780.0
		0070	0390	7034212	SLAB ON STEEL	724.00	0.00	724.00	SQYD	724.00	\$385.00	\$278,740.0
		0070	0400	7034219A	TYPE D BARRIER	455.00	0.00	455.00	LF	455.00	\$70.00	\$31,850.0
		0070	0410	7110200	PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	1.00	0.00	1.00	LS	1.00	\$3,900.00	\$3,900.00
		0070	0420	7123610	SLAB DRAIN	10.00	0.00	10.00	EA	10.00	\$450.00	\$4,500.00
		0070	0430	7125102	SURFACE PREPARATION FOR APPLYING EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$2,200.00	\$2,200.00

Revision 3/23/2023 Page 6 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221216-D01	J5S3440	0070	0440	7125961	GRAY EPOXY-MASTIC PRIMER	1.00	0.00	1.00	LS	1.00	\$1,100.00	\$1,100.00
		0070	0450	7126000	NON-DESTRUCTIVE TESTING	52.00	0.00	52.00	LF	52.00	\$40.00	\$2,080.00
Project J5S3440 - Total Value Posted to Date as of Report Generated Date										\$674,674.48		
221216-D01 Overall - Total Value Posted to Date as of Report Generated Date										\$674,674.48		

Revision 3/23/2023 Page 7 of 13



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5S3440

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0190	6206000C	4 IN. WHITE WATERBORNE PAVEMENT MARKING	8/14/23	8/14/23	2,453.00	LF	Route DD Morgan RT and LT EdgeLine	233+60.85		245+87.25		
0200	6206001C	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	8/14/23	8/14/23	2,453.00	LF	Route DD Morgan Double Yellow CL DO NOT PASS	233+60.85		245+87.25		Striped 8/14/23
0250	8059901	MISC. SEEDING	8/10/23	8/10/23	1.00	LS	Route DD RT and LT slopes	238+48		247+29		Seeded and mulched on 8/10
0260	8059901	MISC. SEEDING	8/10/23	8/10/23	1.00	LS	Route DD RT and LT slopes	237+48		247+29		Seeded and Mulched on 8/10/23
0320	8061050	TYPE C BERM	8/9/23	8/9/23	71.00	LF	Route DD Morgan North Side 238+84 - 40 LF South Side 240+62 - 31 LF	238+84		240+62		Installed 7/29/23 for outlet protection
0330	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	8/9/23	8/9/23	0.50	LF	Route DD Morgan	240+87.25		246+97.25		Rounding Guardrail to nearest 1 LF
				8/9/23	62.50	LF	Route DD Rt	240+87.25		241+90		Installed 8/3
				8/9/23	387.50	LF	Route DD Lt	240+87.25		245+62.25		Installed 8/3
				8/9/23	437.50	LF	Route DD RT	241+22.50		246+97.25		Installed 8/3
0340	6061069	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	8/9/23	8/9/23	4.00	EA	Route DD LT RT All 4 Comers of the bridge 238+60.85 LT - 1 EA 238+60.85 RT - 1 EA 240+87 Z5 LT - 1 EA 240+87 Z5 LT - 1 EA	237+73.35		241+90		Installed 8/3
0350	6061080	MGS END ANCHOR	8/9/23	8/9/23	2.00	EA	Route DD Morgan 241+90 RT - 1 EA 241+22.50 RT - 1 EA	241+90		241+22.50		Installed 8/3
0360	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8/9/23	8/9/23	4.00	EA	Route DD Morgan 237+73,35 LT - 1 EA 237+73.35 RT - 1 EA 245+92.25 LT - 1 EA 246+97.25 RT - 1 EA	237+73.35		246+97.25		Installed 8/3

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 3/23/2023 Page 8 of 13



oject l	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
3440 0	0020	EMBANKMENT IN PLACE	Material		7	Aug 1, 2023	SYSTEM	\$14,175.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					7	Aug 1, 2023	SYSTEM	(\$14,175.00)	
					8	Aug 16, 2023	SYSTEM	\$14,175.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$14,175.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Price		7	Aug 1,	SYSTEM	(\$103.19)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			FUEL		,	2023	OTOTEM	(φ100.10)	Total and the Adjustment index Adjustment Type applied to Total
				- Total				(\$103.19)	
			Price FUEL	- Total				(\$103.19)	
0	0020 -	Total						(\$103.19)	
0	0060	TYPE 1	Material		7	Aug 1,	SYSTEM	\$2,343.00	This adjustment offsets the original system-generated Material Payment
		AGGREGATE FOR BASE (4 IN. THICK)				2023		, , , , , , , ,	Estimate Item Adjustment (0004) due to user beckc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					7	Aug 1, 2023	SYSTEM	(\$2,343.00)	
					8	Aug 16, 2023	SYSTEM	\$2,343.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user beckc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$2,343.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Price FUEL		7	Aug 1, 2023	SYSTEM	(\$16.61)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$16.61)	
			Price FUEL	Total				(\$16.61)	
0	0060 -	Total						(\$16.61)	
0	0080	BIT. PAVEMENT MIXTURE PG58-28H	T Adjustment E H	ACAD	7	Aug 1, 2023	beckc2	(\$29.37)	AC Adjustment for Estimate 0007 Line 0080 Ton Asphalt (57.3 tons)(4.1% AC = -\$29.37
				ACAD - Tota	ACAD - Total			(\$29.37)	
		(BP-1)	Other Item	Adjustment -	Total			(\$29.37)	
			Overrun	Overrun	7	Aug 1, 2023	SYSTEM	(\$3,597.47)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$3,597.47)	
			Overrun - T	otal				(\$3,597.47)	
			Price FUEL		7	Aug 1, 2023	SYSTEM	(\$98.92)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$98.92)	
			Price FUEL	- Total				(\$98.92)	
0	0080 -	Total						(\$3,725.76)	
	0090	MISC.	Other Item Adjustment	ACAD	7	Aug 1, 2023	beckc2	(\$31.95)	AC Adjustment for Estimate 0007 Line 0080 SQ YD Asphalt (176.05 SY)(8.2 thick)(3.2% AC) = -\$31.95
					7	Aug 1, 2023	beckc2	(\$1.84)	AC Adjustment for Estimate 0007 Line 0090 SQ YD Asphalt (37.35 SY)(1.75' thick)(4.1% AC) = -\$1.84
				ACAD - Tota	al			(\$33.79)	
				FUEL	7	Aug 1, 2023	beckc2	(\$202.63)	Fuel Adjustment for Estimate 0007 for Line 0090
				FUEL - Tota				(\$202.63)	
			Other Item	L Adjustment -	Total			(\$236.42)	
0	0090 -	Total						(\$236.42)	
	0 <mark>090 -</mark> 0110	Total FURNISHING	Overrun	Overrun	7	Aug 1,	SYSTEM	(\$236.42) (\$2,678.00)	



oject	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks									
		'	Туре	Adjustment Type	Number	Date	Ву											
3440	0110	TYPE 2 ROCK	Overrun	. 71-		2023												
		BLANKET		Overrun - To	otal			(\$2,678.00)										
			Overrun - T	otal				(\$2,678.00)										
	0110 -	Total						(\$2,678.00)										
	0120	PLACING TYPE 2 ROCK	Overrun	Overrun	7	Aug 1, 2023	SYSTEM	(\$1,545.00)										
		BLANKET		Overrun - To	otal			(\$1,545.00)										
			Overrun - T	otal				(\$1,545.00)										
	0120 -	Total						(\$1,545.00)										
	0190	4 IN. WHITE WATERBORNE PAVEMENT MARKING	Material		8	Aug 16, 2023	SYSTEM	\$2,453.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user beckc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.									
		MARKING			8	Aug 16, 2023	SYSTEM	(\$2,453.00)										
				- Total				\$0.00										
			Material - To	otal				\$0.00										
			Other Item Adjustment	OTHR	8	Aug 16, 2023	beckc2	(\$490.60)	This is a 20% payment withholding and will be due in full pending retroflectivity results as specified in Sec 620 $$									
				OTHR - Total				(\$490.60)										
			Other Item	Adjustment -	Total			(\$490.60)										
	0190 -	Total						(\$490.60)										
	0200	4 IN. YELLOW WATERBORNE PAVEMENT MARKING	Material		8	Aug 16, 2023	SYSTEM	\$3,679.50	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user beckc2 overridding Payment Estimate Exception 5 on the current Payment Estimate.									
					8	Aug 16, 2023	SYSTEM	(\$3,679.50)										
				- Total				\$0.00										
			Material - To	otal				\$0.00										
			Other Item Adjustment	OTHR		Aug 16, 2023	beckc2	(\$735.90)	This is a 20% payment withholding and will be due in full pending retroflectivity results as specified in Sec 620									
				OTHR - Tota				(\$735.90)										
			Other Item	Adjustment -	Total			(\$735.90)										
	0200 -				_		0) (0.75)	(\$735.90)										
	0230	PERMANENT EROSION CONTROL	Material		7	Aug 1, 2023	SYSTEM	\$1,740.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user beckc2 overridding Payment Estimate Exception 3 on the current Payment Estimate.									
		GEOTEXTILE												7	Aug 1, 2023	SYSTEM	(\$1,740.00)	
					8	Aug 16, 2023	SYSTEM	(\$1,740.00)										
				- Total														
			Material - To	Overrun	7	Aug 1, 2023	SYSTEM	(\$1,740.00) (\$459.00)										
				Overrun - Total				(\$459.00)										
			Overrun - Total					(\$459.00)										
	0230 -	Total						(\$2,199.00)										
	0250	MISC. SEEDING			8	Aug 16, 2023	SYSTEM	\$2,215.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user beckc2 overridding Payment Estimate Exception 13 on the current Payment Estimate.									
					8	Aug 16, 2023	SYSTEM	(\$2,215.00)										
				- Total				\$0.00										
			Material - To	otal				\$0.00										
	0250 -	Total						\$0.00										
	0260	MISC. SEEDING	Other Item Adjustment	OTHR	8	Aug 16, 2023	beckc2	(\$875.00)	This is a 20% Payment Withholding for the seeding performed on J5S3440. Once adequate seed growth is achieved and accepted by MoDOT, and silt									



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
5S3440	0260	MISC. SEEDING	Other Item						fence is removed, full payment will be made.
			Adjustment	OTHR - Tota	al			(\$875.00)	
			Other Item	Adjustment -	Total			(\$875.00)	
	0260 -	Total						(\$875.00)	
	0310	SILT FENCE	Material		2	May 16, 2023	SYSTEM	\$4,077.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					2	May 16, 2023	SYSTEM	(\$4,077.00)	
				- Total				\$0.00	
			Material - T	otal				\$0.00	
	0310 -							\$0.00	
	0320	TYPE C BERM	Material		8	Aug 16, 2023	SYSTEM	\$1,420.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user beckc2 overridding Payment Estimate Exception 14 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$1,420.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0320 -	Total						\$0.00	
	0390	SLAB ON STEEL	Material		3	Jun 1, 2023	SYSTEM	\$97,405.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Jun 1, 2023	SYSTEM	(\$97,405.00)	
					4	Jun 15, 2023	SYSTEM	\$153,230.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Jun 15, 2023	SYSTEM	(\$153,230.00)	
					5	Jun 30, 2023	SYSTEM	\$264,880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Jun 30, 2023	SYSTEM	(\$264,880.00)	
					6	Jul 17, 2023	SYSTEM	\$264,880.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Jul 17, 2023	SYSTEM	(\$264,880.00)	
						7	Aug 1, 2023	SYSTEM	\$278,740.00
					7	Aug 1, 2023	SYSTEM	(\$278,740.00)	
						8	Aug 16, 2023	SYSTEM	\$278,740.00
					8	Aug 16, 2023	SYSTEM	(\$278,740.00)	
				- Total				\$0.00	
			Material - Total					\$0.00	
	0390 -	Total						\$0.00	
	0400	TYPE D BARRIER			6	Jul 17, 2023	SYSTEM	\$31,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user beckc2 overridding Payment Estimate Exception 7 on the current Payment Estimate.
					6	Jul 17, 2023	SYSTEM	(\$31,850.00)	
					7	Aug 1, 2023	SYSTEM	\$31,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0012) due to user beckc2 overridding Payment Estimate Exception 8 on the current Payment Estimate.
					7	Aug 1,	SYSTEM	(\$31,850.00)	





Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3440	0400	TYPE D BARRIER	Material			2023			
					8	Aug 16, 2023	SYSTEM	\$31,850.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user beckc2 overridding Payment Estimate Exception 12 on the current Payment Estimate.
					8	Aug 16, 2023	SYSTEM	(\$31,850.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0400 -	· Total						\$0.00	
	0440	GRAY EPOXY- MASTIC PRIMER	Material		2	May 16, 2023	SYSTEM	\$1,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user beckc2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					2	May 16, 2023	SYSTEM	(\$1,100.00)	
					3	Jun 1, 2023	SYSTEM	\$1,100.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user beckc2 overridding Payment Estimate Exception 9 on the current Payment Estimate.
					3	Jun 1, 2023	SYSTEM	(\$1,100.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0440 -	Total					\$0.00		
J5S3440	J5S3440 - Total								
Overall -	Overall - Total								

MoDOT

Contract Adjustments for Contract - 221216-D01

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 13 of 13